
30.03.2017 Cummins QuickServe Online

https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/10/ff/01.06/gg1704­08&header=false&print=true 1/3

  

Пользователь:  ya.alekhin  |  Contact Us

Каталог деталей ­ Сведения о варианте   

Электронный каталог деталей ­ описание данного варианта

Доп.
устройство Группа Рисунок Карта Дата

GG1704­08 01.06 gg100gk FF 03­JAN­01

Двигатели G855, G855 CM558, GTA855 CM558 (CM2358) G101, N14 CELECT, N14 CELECT PLUS, N14
MECHANICAL, QSN14 CM876 N103, QSN14 CM876 N105, QSNT14 CM876 N102

МАЛЫЙ | СРЕДНИЙ | БОЛЬШОЙ

Cart Ref No Part Number Part Description Required Remarks

View My Cart

    GG1704­08 Крышка переднего блока шестерен    

          Front gear cover and mounting

          . Camshaft support and

          mounting. Camshaft support

          and mounting. Lub pump shaft

          support and mounting for SAE

www.tk
sm

as
h.

ru

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('gg100gk','/rtgraphics/english/parts/gg/1/gg100gk_sm.png');
javascript:swap_img('gg100gk','/rtgraphics/english/parts/gg/1/gg100gk_md.png');
javascript:swap_img('gg100gk','/rtgraphics/english/parts/gg/1/gg100gk_lg.png');


30.03.2017 Cummins QuickServe Online

https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/10/ff/01.06/gg1704­08&header=false&print=true 2/3

          B hydraulic drive (13 tooth

          spline) driven from rear lub

          pump. Requires straight

          thread o­ring plug for timing

          hole with large accessory

          drive shaft.

1 60408 Pin Dowel 1  

2 65259 A Шайба 1 .010 inch

3 65259 B Шайба 1 .005 inch

4 65259 C Шайба 1 .002 inch

5 70653 Diamond Dowel 1  

6 145578 O­Ring Seal 1  

7 185573 Шайба 3 .025 inch

8 215705 O­Ring Seal 1  

  9 3020186 Oil Seal 1  

10 3008530 Camshaft Thrust Support 1  

11 3011712 Captive Washer Cap Screw 9 7/16 ­ 20 X 2 3/16 Inch.

12 3011713 Captive Washer Cap Screw 1 7/16 ­ 20 X 2 5/8 Inch.

13 3011714 Captive Washer Cap Screw 3 7/16 ­ 20 X 3 Inch.

14 3011715 Captive Washer Cap Screw 5 3/8 ­ 16 X 1 3/16 in.

  3037536 Threaded Plug 1 9/16 ­ 18 UNF

15       3037537 O­Ring Seal 1  

16       3040818 Threaded Plug 1 1 3/16 ­ 12 UN

17 4058949 Gear Cover Gasket 1  

18 3076203 Dust Seal 1  

  3081246 Gear Cover 1  

19       3411389 Втулка 1  

  20       3085604 Gear Cover 1  

  21 3078292 Oil Seal 1  

  3088841 Lubricating Oil Pump Support 1  

22       69521 Втулка 1  

  23       3078384 Lubricating Oil Pump Support 1  

www.tk
sm

as
h.

ru



30.03.2017 Cummins QuickServe Online

https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/10/ff/01.06/gg1704­08&header=false&print=true 3/3

© 2017 Cummins Inc., Box 3005, Columbus, IN 47202­3005 U.S.A. 
Условия использования и отказа от ответственности  |  Рекомендуемые требования к системе 

Need Assistance? Please click on the Contact Us button in the top right corner of any page.

www.tk
sm

as
h.

ru

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

